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Continued from page 66* ******* 
If we add any quantity B to each term, the above becomes 

(x* +-B)m-3[(x+ 1)*+B]m + 3[(x+2)* +B]m- [3[(x+2)2 - (x + V2J + x*+B]m 

= -Bm - 3[x* - 4(x + 1)* + 3(x + 2)* + B]m + 3[x*-3(x + V2 - 4{x+2)% +B]m + [3[(x+2P - (x+ I)2] +B]m 

(where/?r= 1, 2). 
Finally, take the series in which 

Fn = An-1Fn-1 + An-2Fn-2'"A2F2 + A1F1. 
We conjecture that 

AiFf + A2F? + A3F? -An_2F™2+ An.1/%, + ( s ' A -2 ) f „m 

(2) , n 1 \ 
= A1<Fn-Fir+A2(Fn-F2j

m +A3(Fn-F3)
m...An.2<Fn-Fn_2r+An_1(Fn-Fn.1)

m+ ( 2 A-2)^ 

(where/n = 1,2). 
Proof: Whenm = 1, 

LH.S. = ( 2 A-1 \Fn. 

When/w= 1, 

nM.S. = (A1+A2+A3-An.2+An_1)Fn-(A1F1+A2F2+A3F3"An.2Fn.2+An.1Fn.1) = { "z A-I)F„. 

:. LH.S. = R.H.S. 
When m = 2, 
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If we add any quantity B to each term, we get 

AjtFj + Br +A2(F2 + B)m + A3(F3 + B)m-A„.2(Fn-2 + B)m+An-1{Fn.1 + B)m+[ni1 A-2^ (Fn+B)m 

= A1(Fn-F1+B)m+A2(Fn-F2+B)m+A3(Fn-F3+B)m-An.2(Fn-Fn.2+Br+An.1(Fn-Fn.1+Br 

+ ( i A-2)jBm (wherem = 1,2). Continued on page 92, 


